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What is the RACE strategy?

The RACE strategy teaches you to do what good writers do naturally, and can help
you answer short-response questions. It helps you maintain a formal style and make
sure you are answering all parts of the question with lots of detail. Using the RACE
strategy will almost guarantee your answer is complete. RACE stands for:
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Turn the question into a statement to introduce your paragraph.
Example: How can students improve their study skills?
Students can improve their study skills by...

Keep in mind that there may be more than one part to the question.

Cite the text to support your answer

Support your answer with evidence from the text. If you use a direct quotation,
use quotation marks. Make sure to introduce your evidence with a phrase like:
“For example,” “According to the text,” “The author states that...” etc.

E Explain your citation

Elaborate on why your textual evidence helps you prove your point. Use phrases
like: “this example shows how...,” “this quotation proves that...,” etc.
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Cite the source
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